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Fo 4o %8%55:0014553 4220 ¥ b R ¥
( A )113 Motion of the air affects the speed with which aircraft move
(Mover the Earth’s surface. (B)through the air. (C)in a turn.

4o 88%.:0014554 k5w .0 5 B ¥
( B )114 What effect does an uphill runway slope have on takeoff performance?

(A)Increases takeoff speed. (B)Increases takeoff distance. (C)Decrease takeoff
distance.

Fo 4o %8%55:00145055 4220 ¥ b R ¥
( A 115 To avoid missing important steps, always use the
(A)appropriate checklists. (B)placarded airspeeds. (C)airworthiness
certificate.

F 4o 88%2:0014556 3w :0 5 B ¥
( A ) 116 Climb performance depends upon the
(AMreserve power or thrust. (B)maximum L/D ratio. (C)cruise power setting.

B b B85:0014507 20 ¥ 5 B ¢
( ¢ )17 Name the four fundamentals involved in maneuvering an aircraft.
(A)Power, pitch, bank, and trim. (B)Thrust, lift, turns, and glides.
(C)Straight-and level flight, turns, climbs, and descents.

B 442 50:0014558 A0 2 s A :
( B ) 118 The angle of attack at which an airfoil stalls will

(A)increase if the CG is moved forward. (B)remain the same regardless of gross
weight. (C)change with an increase in gross weight.

B b B855:0014509 420 ¥ 5 B . ¢
( A H119 The direct cause of every stall i1s excessive
(A)angle of attack. (B)density altitude. (C)upward vertical velocity.

B 442 50:0014560 Ag w0 s &
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( A )120 The most critical conditions of takeoff performance are the result of some
combination of high gross weight, altitude, temperature, and

(Munfavorable wind. (B)obstacles surrounding the runway. (C)powerplant
systems.

4o 88%.:0014561 %2 e .0 5 B ¥
( B )121 What is absolute altitude?

(A)The altitude read directly from the altimeter. (B)The Vertival distance of
the aircraft above the surface. (C)The height above the standard datum plane.

4o 88%.:0014562 %2 w .0 5 B ¥
( B )122 What is density altitude?

(A)The height above the standard datum plane. (B)The pressure altitude corrested
for nonstandard temperature. (C)The altitude read directly from the altimeter.

B 4-38%50:0014563 420 2% R .7

( A )123 Density altitude, and its effect on landing performance, is defined by
(A)pressure altitude and ambient temperature. (B)headwind and landing weight.
(C)humidity and braking friction forces.

F4e%8%55:0014564 420 ¥k B¢
( B )124 What effcet does high density altitude, as compared to low density altitude,
have on propeller efficiency and why?
(A)Efficiency is increased due to less friction on the propeller blades.
(B)Efficiency is reduced because the propeller exerts less force at high density
altitudes than at low density altitudes. (C)Efficiency is reduced due to the
increased force of the propeller in the thinner air.

B 4-3850:0014565 420 ¥k A7

( B )125 What effect, if any, does high humidity have on aircraft performance?
(A)It increases performance. (B)It decreases performance. (C)It has no effect
on performance.

B 4-38%50:0014566 4E 20 ¥k A7

( A )126 What are the standard temperature and pressure values for sea level?

(A)15°C and 29.92" Hg. (B)59°C and 1013.2 millibars. (C)59°F and 29. 92
millibars.

B 442 50:0014567 g0 #h Ao

( B )127 What effect does high density altitude have on aircraft pereformance?
(A)It increases engine performance. (B)It reduces climb performance. (C)It
increase takeoff performance.

B 4e4250:0014568 g w0 #h A
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( ¢ )128 Which combination of atmospheric condotions will reduce aircraft takeoff and
climb performance?
(A)Low temperature, low relative humidity, and low density altitude. (B)High
temperature, low relative humidity, and low density altitude. (C)High
temperature, High relative humidity, and High density altitude.

4o %855:0014569 4 e .0 ¥k B¢
( B )129 Which factor would tend to increase the density altitude at a given airport?
(A)An increase in barometric pressure. (B)An increase in ambient temperature.
(C)A decrease in relative humidity.

4 %855:0014570 4.0 ¥k R ¥
( A )130 What 1s the relationship of 1ift, drag, thrust, and weight when the airplane
1s in straight-and-level flight?
(A)Lift equals weight and thrust equals drag. (B)Lift, drag, and weight equals
thrust. (C)Lift and weight equals thrust and drag.

f4o88%50:0014571 fe .0 5 B ¥
( A H131 Climb performance depends upon the
(AMreserve power or thrust. (B)maximum L\D ratio. (C)cruise power setting.

F4e%855:0014072 fE 2.0 ¥ b B¢
( B )132 What must a pilot be aware of as a result of ground effect?
(A)Wingtip vortices increase creating wake turbulence problems for arriving and
departing aircraft. (B)Induced drag decreases; therfore, any excess speed at
the point of flare may cause considerable floating. (C)A full stall landing will
require less up elevator deflection than would a full stall when done free of
ground effect.

F4ek855:0014073 4220 ¥ 5 B¢
( B )133 An airplane said to be inherently stable will
(AMbe difficult to stall. (B)require less effort to control. (C)not spin.

o 4e4855:0014574 fpie 0 ¥k R ¢
( A )134 Maximum endurance is obtained at the point of minimum power to maintain the
aircraft
(A)in steady, level flight. (B)in a long range descent. (C)at its slowest
possible indicated airspeed.

4o %855:0014075 fp ke 0 ¥k R ¢
( B ) 135 When range and economy of operation are the principal goals, the point must ensure
that the airplane will be operated at the recommended
(A)specific endurance. (B)long-range cruise performance. (C)equivalent
airspeed.

B 4-38%50:0014576 HE 0 ¥k A7
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( B ) 136 The angle between the chord line of an airfoil and the relative wind is known
as the angle of
(Mlift. (B)attack. (C)incidence.

B4 R855: 0014077 4220 ¥4 R %
( A )137 Angle of attack is defined as the angle between the chord line of an airfoil
and the
(A)direction of the relative wind. (B)pitch angle of an airfoil. (C)rotor plane
of rotation.

4o 82%0:0014578 A0 ¥k B %
( ¢ )138 Which statement relates to Bernoulli’s principle?
(A)For every action there is an equal and opposite reaction. (B)An additional
upward force is generated as the lower surface of the wing deflects air downward.
(C)Air traveling faster over the curved upper surface of an airfoil causes lower
pressure on the top surface.

4o 88%.:0014579 R0 ¥k B %
( A )139 The four forces acting on an airplane in flight are
(AM)1ift, weight, thrust, and drag. (B)lift, weight, gravity, and thrust. (C)lift
gravity, power, and friction.

F 4o %8%55:0014580 4.0 ¥k B¢
( B ) 140 Which is a result of the phenomenon of ground effect?
(A)The induced angle of attack of each rotor blade is increased. (B)The lift
vector becomes more horizontal. (C)The angle of attack generating lift is
increased.

F 4 %8%55:00145081 4220 ¥4 R %
( A ) 141 When landing behind a large aircraft, which procedure should be followed for
vortex avoidance?
(A)Stay above its final approach flightpath all the way to touchdown. (B)Stay
below and to one side of its final approach flightpath. (C)Stay well below its
final approach flightpath and land at least 2,000 feet behind.

B b B8550:0014582 B2 e .0 5 2%
( ¢ )142 How does the wake turbulence vortex circulate around each wingtip?
(A)Inward, upward, and around each tip. (B)Inward, upward, and counterclockwise.
(C)Outward, upward, and around each tip.

B b 8855:0014583 220 5 R 4
( ¢ )43 Wingtip vortices are created only when an aircraft is
(A)operating at high airspeeds. (B)heavily loaded. (C)developing lift.
B b B850:0014584 AE e .0 ¥k 2%

( ¢ )144 The greatset vortex strength occurs when the generating aircraft is
(A)light, dirty, and fast. (B)heavy, dirty, and fast. (C)heavy, clean, and slow.

14



438 50:0014585 #a w0 g5 B 4
( A ) 145 Wingtip vortices created by large aircraft tend to

(A)sink below the aircraft generating turbulence. (B)rise into the traffice
pattern. (C)rise into the takeoff or landing path of a crossing runway.

B b8 50:0014586 Ag e .0 2% & %
( A ) 146 The wind condition that requires maximum caution when avoiding wake turbulence
on landing is a
(A)light, quartering, headwind. (B)light, quartering tailwind. (C)strong
headwind.

4o 88%50:0014587 A0 ¥k B %

( A ) 147 When landing behind a large aircraft, the pilot should avoid wake turbulence
by staying
(A)above the large aircraft’s final approach path and landing beyond the large
aircraft’ s touchdown point. (B)below the large aircraft’s final approach path
and landing before the large aircraft’ s touchdown point. (C)above the large
aircraft’ s final approach path and landing before the large aircraft’ s touchdown
point.

o 4o82%.:0014588 A0 ¥k B %
( B ) 148 When departing behind a heavy aircraft, the pilot should avoid wake turbulence
by maneuvering the aircraft
(A)below and downwind from the heavy aircraft. (B)above and upwind from the heavy
aircraft. (C)below and upwind from the heavy aircraft.

F 4o %8%55:0014589 4.0 ¥4 R %
( ¢ ) 149 If the outside air temperature (0AT) at a given altitude is warmer than standard,
the density altitude 1is
(A)equal to pressure altitude. (B)lower than pressure altitude. (C)higher than
pressure altitude.

f4e88%.:0014590 2.0 2% B %
( A )150 What are the standard temperature and pressure values for sea level?

(A)15C and 29.92" Hg. (B)59°C and 1013.2 millibars. (C)59°F and 29. 92
millibars.

B 3850:0014591 450 2% R0 5
( B ) 151 Which factor would tend to increase the density altitude at a given airport?

(A)An increase in barometric pressure. (B)An increase in ambient temperature.
(C)A decrease in relative humidity.

B4 A8 50:0014592 A0 ¥ 20 5
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( ¢ )152 Which combination of atmospheric condotions will reduce aircraft takeoff and
climb performance?
(A)Low temperature, low relative humidity, and low density altitude. (B)High
temperature, low relative humidity, and low density altitude. (C)High
temperature, High relative humidity, and High density altitude.

R4e485:0014593 4.0 #pd R %
( B ) 153 What effect does high density altitude have on aircraft pereformance?

(A)It increases engine performance. (B)It reduces climb performance. (C)It
increase takeoff performance.

R4e48%.:0014594 25w .0 ¥k B %
( B )154 What effect, if any, does high humidity have on aircraft performance?

(A)It increases performance. (B)It decreases performance. (C)It has no effect
on performance.

o 4e82%0:0014595 A0 ¥k B %
( B )155 What effect does high density altitude, as compared to low density altitude,
have on propeller efficiency and why?
(A)Efficiency is increased due to less friction on the propeller blades.
(B)Efficiency is reduced because the propeller exerts less force at high density
altitudes than at low density altitudes. (C)Efficiency is reduced due to the
increased force of the propeller in the thinner air.

F b 8885:0014596 2220 % R 4

(B )156 The 1ift differential that exists between the advancing main rotor blade and
the retreating main rotor blade is known as
(A)transverse flow effect. (B)dissymmetry of lift. (C)hunting tendency.

B 422 50:0014597 g0 ¥k R0 5

( ¢ )157 During forward cruising flight at constant airspeed and altitude, the individual
rotor blades, when compared to each other, are operating
(A)with increased 1ift on the retreating blade. (B)with a decreasing angle of
attack on the advancing blade. (C)at unequal airspeed, unequal angles of attack,
and equal 1ift moment.

B 448 50:0014598 A0 s 20 5

( A ) 158 The upward bending of the rotor blades resulting from the combined forces of
lift and centrifugal force is known as
(A)coning. (B)blade flapping. (C)inertia.

B4 A2 50:0014599 A0 s 20 5

( B )159 When a blade flaps up, the CG moves closer to its axis of rotation giving that
blade a tendency to
(A)decelerate. (B)accelerate. (C)stabilize its rotational velocity.

B 442 50:0014600 250 2% & 5
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( ¢ )160 During a hover, a helicopter tends to drift to the right. To compensate for this,
some helicopters have the

(A)tail rotor tilted to the left. (B)tail rotor tilted to the right. (C)rotor
mast rigged to the left side.

B b 3285:0014601 4220 ¥p% A2 %
( B )16l Translational 1ift is the result of
(A)decreased rotor efficiency. (B)airspeed. (C)both airspeed and groundspeed.

B4 %855:0014602 422 .0 ¥4 R %
( ¢ )162 The primary purpose of the tail rotor system is to

(A)assist in making a coordinated turn. (B)maintain heading during forward
flight. (C)counteract the torque effect of the main rotor.

4e88%.:0014603 2220 ¥k B %
(B )163 If RPM is low and manifold pressure is high, what initial corrective action should
be taken?

(A)Increase the throttle. (B)Lower the collective pitch. (C)Raise the collective
pitch.

B b B855:0014604 2220 5 2%
( A )164 The purpose of the lead-lag (drag) hinge in a three-bladed, fully articulated
helicopter rotor system is to compensate for
(A)Coriolis effect. (B)coning. (C)geometric unbalance.

4o88%.:0014600 25w .0 ¥k B %
( B )165 High airspeeds, particularly in turbulent air, should be avoided primarily
because of the possibility of

(AM)an abrupt blade pitchup. (B)retreating blade stall. (C)a low-frequency
vibration developing.

F4o48%.:0014606 38w :0 ¥ % B %
( A )166 The maximum forward speed of a helicopter is limited by
(Mretreating blade stall. (B)the rotor RPM red line. (C)solidity ratio.

R4e48%.:0014607 35 e .0 2% B %
( ¢ )167 When operating at high forward airspeeds, retreating blade stalls are more likely
to occur under which condition?
(A)Low gross weight and low density altitude. (B)High RPM and low density
altitude. (C)Steep turns in turbulent air.

R4e48%.:0014608 3520 2% B %
( B ) 168 Ground resonance 1s most likely to develop when
(A)on the ground and harmonic vibrations develop between the main and tail rotors
(B)a series of shocks causes the rotor system to become unbalanced. (C)there
1s a combination of a decrease in the angle of attack on the advancing blaed
and an increase in the angle of attack on the retreating blade.

17



B 442 50:0014609 2w :0 s 20 5

( ¢ )169 While in level cruising flight inahelicopter, a pilot experiences low-frequency
vibrations (100 to 400 cycles per minute). These vibrations are normally
associated with the
(A)engine. (B)cooling fan. (C)main rotor.

F4e48%.:0014610 2220 2% B : %
( A )170 Select the helicopter component that, if detective, would cause medium-ferquency
vibrations.
(A)Tail rotor. (B)Main rotor. (C)Engine.

R4e48%.:0014611 3220 2% B : %
( ¢ )17l The principal reason the shaded area of a Height vs. Velocity Chart should be
avoided 1is
(A)turbulence near the surface can dephase the blade dampers. (B)rotor RPM may
decay before ground contact is made if an engine failure should occur.
(C)insufficient airspeed would be available to ensure a safe landing in case
of an engine failure.

B4e AT 0014612 A0 ¥ B - 2

( B )172 During surface taxiing, the collective pitch is used to control
(A)forward movement. (B)heading. (C)ground track.

B4e4250:0014613 g0 % & 5

( ¢ )178 During surface taxiing, the cyclic pitch stick is used to control
(A)forward movement. (B)heading. (C)ground track.

4o 88%0:0014614 %5 x:0 % B %
(B )174 If the pilot experiences ground resonance, and the rotor RPM is not sufficient
for flight,
(AM)open the throttle full and liftoff. (B)apply the rotor brake and stop the
rotor as soon as possible. (C)attempt to takeoff at that power setting.

4e82%0:00146150 220 2% B %
( B )175 With calm wind conditions, which flight operation would require the most power?

(A)A right-hovering turn. (B)A left-hovering turn. (C)Hovering out of ground
effect.

B 442 50:0014616 20 sk & %

( B )176 If the pilot were to make a near-vertical power approach into a confined area
with the airspeed near zero, what hazardous condition may develop?
(A)Ground resonance when ground contact is made. (B)A settling-with-power
condition. (C)Blade stall vibration could develop.

B4eA250:0014617 w0 sk & 5
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( B )177 If anti-torque failure occurred during the landing touchdown, what could be down
to help straighten out left yaw prior to touchdown?
(A)A flare to zero airspeed and a vertical descent to touchdown should be made.
(B)Apply available throttle to help swing the nose to the right just prior to
touchdown. (C)A normal running landing should be made.

R4e48%.:0014618 2220 ¥k B %
( ¢ ) 178 Which flight technique is recommanded for use during hot weather?
(A)Use minimum allowable RPM and maximum allowable manifold pressure during all
phases of flight. (B)During hovering flight, maintain minimum engine RPM during
left pedal turns, and maximum engine RPM during right pedal turns. (C)During
takeoff, accelerate slowly into forward flight.

o 4o82%.:0014619 A 2.0 2% B %

( A )17 Under what condition should a helicopter pilot consider using a running takeoff?
(A)When gross weight or density altitude prevents a sustained hover at normal
hovering altitude. (B)When a normal climb speed is assured between 10 and 20
feet. (C)When the additional airspeed can be quickly converted to altitude.

4o 82%0:0014620 5220 2% B %

( ¢ )180 What action should the pilot take if engine failure occurs at altitude?
(A)Open the throttle as the collective pitch is raised. (B)Reduce cyclic back
stick pressure during turns. (C)Lower the collective pitch control, as necessary
to maintain rotor RPM.

4o %855:0014621 f2 2.0 ¥ % R 2
( B )181 Which is a precaution to be observed during an autorotative descent?
(A)Normally, the airspeed is controlled with the collective pitch. (B)Normally,
only the cyclic control is used to make turns. (C)Do not allow the rate of descent
to get too low at zero airspeed.

4o 88%5.:0014622 A 2.0 ¥k B %
( ¢ )182 The proper action to initiate a quick stop is to apply
(A)forward cyclic and lower the collective pitch. (B)aft cyclic and raise the
collective pitch. (C)aft cyclic and lower the collective pitch.

R4e48%.:0014623 35w .0 2% B %
( ¢ )18 What is the procedure for a slope landing?
(A)When the downslope skid is on the ground, hold the collective pitch at the
same position. (B)Minimum RPM shall be held until the full weight of the
helicopter is on the skid. (C)When parallel to the slope, slowly lower the upslope
skid to the ground prior to lowering the downslope skid.

B4 A8 50:0014624 e 0 sk 20 5
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( B )184 Takeoff from a slope is normally accomplished by
(Mmoving the cyclic in a direction away from the slope. (B)bringing the
helicopter to a level attitude before completely leaving the ground. (C)moving
the cyclic stick to a full up position as the helicopter nears a level attitude.

4o 48%.:0014625 22w .0 ¥k B %
( B ) 185 Which action would be appropriate for confined area operations?
(A)Takeoffs and landings must be made into the wind. (B)Plan the flightpath over
areas siutable for a forced landing. (C)A very steep angle of descent should
be used to land on the selected spot.

4o 88%.:0014626 32w :0 5 B ;7
( A )186 If possible, when departing a confined area, what type of takeoff is preferred?
(A)A normal takeoff from a hover. (B)A vertical takeoff. (C)A normal takeoff
from the surface.

F4o88%0:0014627 fe .0 5 B ¥
( ¢ )187 Which is a correct general rule for pinnacle and ridgeline operations?
(A)Gaining altitude on takeoff is more important than gaining airspeed. (B)The
approach path to a ridgeline is usually perpendicular to the ridge. (C)Aclimb
to a pinnacle or ridgeline should be performed on the upwind side.

4o 88%.:0014628 25w :0 ¥k B %
( A )18 Before beginning a confined area or pinnacle landing, the pilot should first
(A)execute a high reconnaissance. (B)execute a low reconnaissance. (C)fly around
the area to discover areas of turbulence.

4o 88%.:0014629 25w .0 ¥k B %
( ¢ )189 Select the four flight fundermentals involved in maneuvering an aircraft.
(AM)Aircraft power, pitch, bank, and trim. (B)Starting, taxiing, takeoff, and
landing. (C)Straight-and level flight, turns, climbs, and descents.

R 4e88%5.:0014630 2 w0 ¥k B %
( B )190 Ground effect is most likely to result in which problem?
(A)Setting to the surface adruptly during landing. (B)Becoming airborne before
reaching recommanded takeoff speed. (C)Inability to get airborne even though
airspeed is sufficient for normal takeoff needs.

Re38550:0014631 2 w0 #p5 B 4
( A )191 When are the four forces that act on an airplane in equilibrium?

(A)During unaccelerated flight. (B)When the aircraft is accelerating. (C)When
the aircraft is at rest on the ground.

B4 A8 50:0014632 25w :0 ¥ 20 5
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( B )192 An airplane said to be inherently stable will
(AM)be difficult to stall. (B)require less effort to control. (C)not spin.

4o 48%.:0014633 220 ¥k B %
( A )193 What determines the longitudinal stability of an airplane?
(A)The location of the CG with respect to the center of 1ift. (B)The effectiveness
of the horizontal stabilizer, rudder, and rudder trim tab. (C)The relationship
of thrust and lift to weight and drag.

R4e48%.:0014634 25w .0 ¥k B %
( ¢ )194 Changes in the center of pressure of a wing affect the aircraft’s
(A)1lift/drag ratio. (B)lifting capacity. (C)aerodynamic balance and
controllability.

F4e%855:0014635 420 ¥ % R %
( A )19 Loading an airplane to the most aft CG will cause the airplane to be
(A)less stable at all speeds. (B)less stable at slow speeds, but more stable
at high speeds. (C)less stable at high speeds, but more stable at low speeds.

B b B855:0014636 2220 ¥ 5 R %
( A )196 What force makes an airplane turn?
(A)The horizontal component of lift. (B)The vertical component of lift.
(C)Centrifugal force.

4o 82%.:0014637 A0 ¥k B %
( A ) 197 During an approach to a stall, an increased load factor will cause the aircraft
to
(A)stall at a higher airspeed. (B)have a tendency to spin. (C)be more difficult
to control.

4o 88%.:0014638 250 ¥k B %

( B )198 If an emergency situation requires a downwind landing, pilots should expect a
faster
(Mairspeed at touchdown, a longer ground roll, and better control throughout
the landing roll. (B)groundspeed at touchdown, a longer ground roll, and the
likelihood of overshooting the desired touchdown point. (C)groundspeed at
touchdown, a shorter ground roll, and the likelihood of undershooting the desired
touchdown point.

4o 88%5.:0014639 A0 ¥k B %
(C )199 As altitude increases, the indicated airspeed at which a given airplane stalls
in a particular configuration will
(A)decrease as the true airspeed decreases. (B)decrease as the true airspeed
increases. (C)remain the same regardless of altitude.

B4 A2 50:0014640 25w :0 % 20 5
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( C )200 The angle of attack at which an airfoil stalls will
(Aincrease if the CG is moved forward. (B)change with an increase in gross weight
(C)remain the same regardless of gross weight.

f4o82%50:0014641 A w0 ¥k B %
( A )201 What is ground effect?
(A)The result of the interference of the surface of the Earth with the airflow
patterns about an airplane. (B)The result of an alteration in airflow patterns
increasing induced drag about the wings of an airplane. (C)The result of the
disruption of the airflow patterns about the wings will no longer support the
airplane in flight.

R4e48%.:0014642 22 e .0 ¥k B %
( A )202 Floating caused by the phenomenon of ground effect will be most realized during
an approach to land when at
(A)less than the length of the wingspan above the surface. (B)twice the length
of the wingspan above the surface. (C)a higher-than-normal angle of attack.

4o %855:0014643 $22:0 ¥ % R 2
( B )203 What must a pilot be aware of as a result of ground effect?
(A)Wingtip vortices increase creating wake turbulence problems for arriving and
departing aircraft. (B)Induced drag decreases; therfore, any excess speed at
the point of flare may cause considerable floating. (C)A full stall landing will
require less up elevator deflection than would a full stall when done free of
ground effect.

Fdek855:0014644 f2 2.0 ¥k B %
( B )204 To obtain maximum distance over the ground, the airspeed to use is the
(Aminimum control speed. (B)best lift/drag speed. (C)minimum sink speed.

B 4-38%50:0014645 fg 1 #pk R o7
( B )205 (Refer to Figure 8.) Which yaw string and inclinometer illustrations indicate
a slipping right turn?(4-®A52_Fig8)
(A)3 and 6. (B)2 and 6. (C)2 and 4.

PR

4e48%.:0014646 22 e .0 2% B %

( B )206 During the transition from pre-rotation to flight, all rotor blades change pitch
(A)simultaneously to the same angle of incidence. (B)simultaneously but to
different angles of incidence. (C)to the same degree at the same point in the
cycle of rotation.

22



4o 48%.:0014647 32 e .0 ¥k B %
( B )207 If ground resonance is experienced during rotor spin-up, what action should you
take?
(A)Taxi to a smooth area. (B)Make a normal takeoff immediately. (C)Close the
throttle and slowly raise the spin-up lever.

4o 48%.:0014648 25w .0 ¥k B %
( B )208 When activated, an emergency locator transmitter (ELT) transmits on
(A)118.0 and 118.8 MHz. (B)121.5 and 243.0 MHz. (C)123.0 and 119.0 MHz.

B b B285:0014649 2Ee .0 ¥p5 2%
( B )209 When must the battery in an emergency locator transmitter (ELT) be replaced (or
recharged if the battery is rechargeable)?
(A)After one-half the battery’ s useful life. (B)During each annual and 100-hour
inspection. (C)Every 24 calendar months.

4o 82%0:0014650 A w0 2% B %
( B )210 When may an emergency locator transmitter (ELT) be tested?
(AM)Anytime. (B)At 15 and 45 minutes past the hour. (C)During the first 5 minutes
after the hour.

FheB280:0014601 2220 ¥ % 2 %
( B )21l Which procedure is recommended to ensure that the emergency locator transmitter
(ELT) has not been activated?
(A)Turn off the aircraft ELT after landing. (B)Ask the airport tower if they
are receiving an ELT signal. (C)Monitor 121.5 before engine shutdown.

4o 88%.:0014652 k2w .0 5 B ¥
( B )212 Coning is caused by the combined forces of

(A)drag, weight and gravity. (B)lift and centrifugal force. (C)weight and
centrifugal force.

4o %855:0014653 fg e .0 ¥k R ¥
( ¢ )213 What is meant by the term "translating tendency"?
(A)The tendency of the the rotor blade to increase or decrease its rotational
velocity. (B)The increase in rotor efficiency as airspeed reaches approximately
15 MPH. (C)The tendency of the entire helicopter to move in the direction of
tail rotor thrust.

f4e88%5.:0014654 3w .0 % B¢
( ¢ )214 The unequal lift across the rotor disc that occurs in horizontal flight as a
result of the difference in velocity of the air over the advancing half of the
disc area and the air passing over the retreating half of the disc area is known
as
(Mconing. (B)disc loading. (C)dissymmetry of lift.

B 4-38%50:0014655 40 2% A7
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( A )215 During calm wind conditions, in most helicopters, which of these flight
operations would require the most power?
(A)A left-pedal turn. (B)A right-pedal turn. (C)Hovering in ground effect.

F 4 %855:0014656 fE e .0 ¥k B¢
( ¢ )216 What is the procedure for a slope landing?
(A)Use maximum RPM and maximum manifold pressure. (B)If the slope is 10° or less,
the landing should be made perpendicular to the slope. (C)When parallel to the

slope, slowly lower the upslope skid to the ground prior to lowering the downslope
skid.

R 4o82%50:0014657 fpe .0 25 B¢
( ¢ )217 When planning slope operations, only slopes of 5° gradient or less should be
considered, primarily because
(A)ground effect is lost on slopes of steeper gradient. (B)downwash turbulence
is more severe on slopes of steeper gradient. (C)most helicopters are not
designed for operations on slopes of steeper gradient.

o 4o88%5.:0014658 f w0 5 B ¥
( ¢ )218 A helicopter tends to drift to the right when hovering. this statement is
(A)false; helicopters show no tendency to drift a specific direction. (B)true;
the pilot applies collective pitch to overcome this tendency. (C)true; the mast
or cyclic pitch system of most helicopters is rigged to the left to overcome
this tendency.

F 4 %8%55:0014659 420 ¥k B¢
( A )219 When a rotorcraft transitions from straight-and-level flight into a 30° bank
while miantaining a constant altitude, the total 1ift force must
(A)increase and the load factor will increase. (B)increase and the load factor
will decrease. (C)remain constant and the load factor will decrease.

o 4e4855:0014660 fgie 0 ¥k R ¥
( A )220 Normal RPM should be maintained during a running landing primarily to ensure
(A)adequate directional control until the helicopter stops. (B)that sufficient
lift is available should an emergency develop. (C)longitudinal and lateral
control, especially if the helicopter is heavily loaded or high density altitude
conditions exist.

o 4e%855:0014661 fgie .0 ¥k B¢
( B )221 When conducting a confined area-type operation, the primary purpose of the high
reconnaissance is to determine the
(A)power requirements for the approach. (B)suitability of the area for landing.
(C)amount of slope in the landing area.
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( ¢ )222 When operating at high forward airspeed, retreating blade stall is more likely
to occur under conditions of
(A)low gross weight, high density altitude, and smooth air. (B)high gross weight,

low density altitude, and smooth air. (C)high gross weight, high density altitude
and turbulent air.

B b A8 5:0014663 42 e 0 2k B¢
( A )223 The forward speed of a rotorcraft is restricted by

(A)dissymmetry of lift. (B)transverse flow effect. (C)high-frequency
vibrations.

4o 88%.:0014664 3w .0 5 B 7
( B )224 When hovering, a helicopter tends to move in the direction of tail rotor thrust.
this statement is
(A)true; the movement is called translational 1ift. (B)true; the movement is

called translating tendency. (C)false; the movement is opposite the direction
of rail rotor thrust, and is called transverse flow effect.
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